A Solidify Understanding Task

Chocolate versus Vanilla

Danielle loves chocolate ice cream much more than vanilla and was

expla

disagreed and thought vanilla is much better. To settle the argument, they
created an online survey asking people to choose their favorite ice cream
flaver between chocolate and vanilla. After completing the survey, the
following results came back:
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ining to her best friend Raquel that so does most of the world. Raquel

There were 8,756 females and 6,010 males who responded.
Qut of all the males, 59.7% chose vanilla gver chocolate.
4,732 females chose chocolate,

Upeon first observations, which flavor do you think "won"? . Write
a sentence describing what you see at ‘first glance’ that makes you think this,

Raquel started to organize the data in the following two-way table. See if you can
help complete this (using counts and not percentages):

. Chocolzte | Vanilla | Total

Female 8,756
Male 6,010

Total -

3. Organize the same datain a Venn diagram and a tree diagram.
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Looking over the three representations (tree diagram, two-way table, and Venn
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diagram), what probabilities seem to be easier to see in each? What probabhilities are

hidden or hard to see?
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—

Tree diagram | Tree diagram

Two-way table

|
|
| Two-way table |

Venn diagram Venn diagram




